Biscuit Decoration %?

For the Teddy Bears' Picnic Andrew decorated 20
biscuits.

He lined them up and put green icing on every
second biscult.

Then he put a red cherry on every third biscuit.

1hen he put a Wialit=Xelglelele]E1(=Re]8lafe]s] ON cvery

biscuit.

So there was nothing on the first biscuit.

How many other biscuits had no decoration?

Did any biscuits get all three decorations?

To help you to find the answer to this puzzle you can use:

Circles as biscuits

Green counters for icing

Red counters for cherries

White counters for chocolate buttons
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